
Topic 6.1  

REVIEW QUESTIONS 
 

1. How did the Industrial Revolution                                                                                                   
lead to the new imperialism? (pg. 317)  
 

2. How did Western nations come to                                                                                    
dominate much of the world in the                                                                                       
late 1800’s? (pg. 318)  

 

3. What were the long-term effects of                                                                                   
imperialism on the colonized peoples?                                                                            
(pg. 321)  

 
 

    

            

           

The Battle of Rorke’s Drift took place on January 23 during the Anglo-Zulu War of 1879.   
Just over 150 British and colonial troops defended the outpost against attacks by 3,000 to 
4,000 Zulu warriors. 



  
    


